Which organelle is primarily responsible for synthesis of oils and phospholipids, and also the site of synthesis of proteins that may be exported from the cell?
A.  Chloroplasts
B.  Endoplasmic reticulum

C.  Mitochondria

E.  Nucleus

Which of the following organelles is capable of converting light energy to chemical bond energy?

A.  Chloroplasts

B.  Mitochondria

C.  Golgi Apparatus

E.  Nucleus

Which of the following relationships between cell structures and their respective functions is NOT correct?

A.  Golgi Apparatus;  site of protein processing for secretion 

B.  Ribosomes;  site of protein synthesis

C.  Nucleus;  chromosomes and genetic control of the cell

D.  Mitochondria;  chief site of photosynthesis and sugar synthesis

In the electron transport chain portions of cellular respiration, H2O is formed.  Where do the oxygen atoms in the H2O come from?
A.  Glucose

B.  Carbon dioxide

C.  Molecular oxygen (O2)  

D.  Another water (H2O)

During cellular respiration, which of the following directly donates electrons to the electron transport chain at the beginning of the process?

A.  NAD+
B.  NADH

C.  ATP

D.  ADP + Pi
During cellular respiration, a H+ ion gradient in mitochondria will be generated by ____________ and used primarily for ____________ .

A.  Diffusion of H+ ions  . . .  NAD reduction
B.  Light energy  . . .  ATP synthesis

C.  The electron transport chain  . . .  ATP synthesis 
D.  Glycolysis  . . .  production of H2O

In the thylakoid membranes of the chloroplasts, what is the main function of the chlorophyll antenna molecules?

A.  To split water and release oxygen molecules

B.  To synthesize ATP from ADP and Pi
C.  To pass electrons to ferredoxin and then to NADPH

D.  To absorb photons and transfer light energy to the reaction-center chlorophylls

In plant cells, ATP is made in response to light.  An electron transport chain is involved.  This electron transport chain is found in the:

A.  Inner membranes (thylakoids) of the chloroplast
B.  Inner membranes of the mitochondria

C.  Cytoplasm of the cell

D.  Stroma space of the chloroplast

In the electron transport chain portions of photosynthesis, molecular oxygen (O2) is formed.  Where do the oxygen atoms come from?

A.  Glucose

B.  Carbon dioxide

C.  Electrons  

D.  Water (H2O)

